TSR HHAR 997 §1€ (RSSB), gHT 3rditaa

e & & fepw e & vreg & Wi @ aveT 47
(1) 5 + 379 = $FY  (2) 779 + §91 = T
(3) o + SfSifE = weiSter (4) &Y+ oT = m
‘grary’ = Wi Fifve-

(1) so+aTfR (2) 3fa + anfg

(3) 3= + 3y (4) =r8 &
Frfefem & & "woqui’ wrsg # fafea soert §?
(1) ¥99 : (2) ¥

3= (4) ¥4
dreva’ ¥ g wea §-

= ) 3t

B3 = 4 @

Choose the most appropriate English word for the
given word:

TEETEA

(1) Abetment (2) Abatement

(3) Abolishment (4) Apartment
‘Compensatory’ T fe<t ¥ W fore o1d & Bar ¥7
(1) g (2) g

(3) A (4) omwfew
favafaemera grT wawr fFrawt & w@yitas &t g
[rEg vEifaereral & fe w0 W asft wranit?
(1) st g (2) e S gRT

(3) 9ft= g (4) d-wrE=Ig 93 R

& # UT 5 U 9y &3 fufadl @ 9w s
¥, o @ wEa €7
(1) I

(3) uftaT -

(2) fagfia
(4) sHfergan

9.

= 110

12.

13.

14.

Frorfafam & & wg 79 1 w9 FifwC-
(1) I =} EHT I9F 901 G@ 7|

(2) ¥ EHT ITH IO G T

(3) W W J IFF 901 @ 7T |

(4) I F TGHT IGH W01 G@ T |
Preafafaa o & srpg s ¥-

(1) feeett # =R figarfar &) .
(2) |1 7 UF T @i |
OECIERCER Eetcs o

(4) e o = s

“ arfra yree H wYEr v 9 §?

(1) = 2§
(3) 7 4) &3
TH-AQWE A Wafrd i | e afer =& §7
(1) vamers > faam (2) U > e
(3) TR > qeal (4) &3 >wa
Frefafaa o Toe g 7
(1) Je=t (2) e
(3) 3 (4) 33
Frefaiaa = gafaa sitwe-

geit-1 T R-11

(e ) (ToiemT)

(A) s E TR () AR E s AR |

(B) TG TE (i) 59 T #1 W Fe Fue
(C) sg 599 (i) 59 T8 & A W 9y
(D) sgsitfeTmE  (iv) o o8 w1 @ @T 36w
He:- :

A) ®B) (© (D)
1 i iii i v
@) i iv i ii
3) v ii iii i

@ i iv iii ii



15.

16.

17.

18‘

19.

21.

22,

“afifer’ w1 R &

(1) Ta% (2) Ffm

(3) WH (4) wrFfTH

et § ¥ yrg wee o¥-

(1) arefisit (2) =fy=h

(3) wiftrsht (4) =eitfs

Frefafaa § vt v et =t wrem @fg-

(A) SsvEE (B) smdftafz

(C) siads (D) H=rht

(E) gurety

Ha fYw Tw T | v I W e wiwg-

(1) A,C3RE (2)A,B3RC

(3) B,C3¥R E 4) B,c 3k D

" W HFOT T T W ug -
(1) g (2) wgH

(3) == (4) &g

‘AEY WHE ® 9T ¥

(A) TR® (B) HH=H

(C) STaEH (D) THER

(E) 3ferptor

e fIw T T | vl I w5 ww it

(1) B,C3RE ) A,B3RC

(3) B,D3RE (4) A, DIRE.

e vreg feRe WA @ ST 7

(1) S9gar=s (2) =afwara®

(3) wfdare= (4) vEarSH

Frafafaa § vraarss dar -

() g8 - () g

3) @ (4) ST

fore wE o At Wi vveare §7

(1) =t9, 71, fraa ) 5, =€, 9%

@) 5=, =, femmr (4) o=, 37, s9=ht

fra oo & devaew W Y

23,

24,

(1) yFem v ¥ forg formd w82
(2) vHfslt 1 R 7€ &, 7% ¥

(3) 39 =t FI AW, g% forart swE R
(4) T gia EIrd, S st @Ry

a1 & fftfa fagreor §?
(1) 3Ten (2) 3=
(3) aaet (4) fewrs

25.

26.

29.

31.

STEHTOT Tt 1Y A TAA BT 7

(1) | &1 Ferdroan s aret was Fordteor e ¥

(2) 1 o T I WY B A VR b AT F ¥

(3) fiFn & wg@ w9 | A W% WA T ¥ 1 s
3 2. arReE

(@) wEm S fiFm N fadwa A A& W= iy
ferdraor gemr ¥ |

for ara o e RRar @ v T p

(1) Wl ¥ o =it T fawrs fean

(2) T A &7 = e feram

(3) ¥ =g FTaterg ST |

(4) 9 90 @ @ |

. Prefafas & @ ‘A’ wg & waifuw o

NI Yo WHE T oA AT~

(1) 3=, forad frremee = &

(2) =, SIfvEE, A9-dre

(3) &, O, THE

(4) e, o, Sfifer

AT @’ v wam frefataa 9 9 few ad
¥ grar ¥7

(1) v& (2) s

3) o4 (4) |
m%mmﬁmﬁmﬁmw
(1) T =1 7em Wr - feite

(2) T I G FA A - A

(3) Welt YR |/ Tl gon - ST

(4) 3T F 3o - g

‘et a@ A’ Frenitse @ AR 2

(1) 771 Ay ST FH g

(2) =@ 4w, e F9 &

(3) = H s 7 fwrd 3

(4) <9 TR ASE SRy B

(admire) for the

The girl was full of
generosity she was shown.
(1) admirating (2) admiration
(3) admirability (4) admire



32.

33.

36.

§ 7.

38.

39.

Pick out the headword. and also select what the
underlined word stands for,

No such diseases were known then.

(1) Discases; Preposition

(2) No such discases; Adjective

(3) Diseases; adverb

(4) No such diseases; Noun

Complete the following sentence by choosing

the correct tense form from the given options:
He gave the picture to me because he ___ me.

(1) has trust (2) will trusted
(3) trusted (4) trusting

. We expect good news.(Passive Voice)

(1) Good news is expected.

(2) Good news should be expected.
(3) Good news must be expected,
(4) Good news was expected.

. Choose the correct option.

Tell Mr. Smith to wait here.

(change into passive voice)

(1) Mr. Smith should be told to wait there,
(2) Mr. Smith should be asked to wait here.
(3) Let Mr. Smith be told to wait there.

"(4) Let Mr. Smith be told to wait here. :
She said, ""You may need my help." (Change into

Indirect Narration)

(1) She told that I may need my help.

(2) She told me that I must need her help.
(3) She said me that I might need help. "

(4) She told me (that) I might need her help.

How ____time did you spend on your homework?
(1) many (2) much

(3) most (4) some -

Don't write your name on ....... page of the booklet.
(1) many (2) few

(3) both (4) every

I shall never forget you.
(Transform into Affirmative)

(1) Remember you, I will.

(2) You shall be remembered always.
(3) I shall always remember you.

(4) Shall I ever remember you ?

40,

41.

42.

43.

44,

45.

- 46.

47.

48.

We should lead a life from fear.

(1) &9 yavia gt Tt i =feg)

(2) T T F IER T |

(3) ¥ Sad F I A qH @ |

(4) & R e St =)

Everybody enjoys equal rights in India.
(1) vireer ® T @il =y Fr st e € |
(2) v # we i FEA AR T o ¥ )
(3) T sfeewr v 3wl e ¥

(4) v 3 wm gl %) s e |

“fawa a7’ - (Trapslate into English)

(1) sell letter (2) sale deed

(3) purchase (4) leasc agreement
“Adhoc” - (Translate into Hindi)

(1) aed (2) Frd wraEard

(3) e (4) wfafrafera

e arftvfues v wdt i ¥-

(1) Objective - T&TE  (2) Acceleration - T
(3) Access - 3T (4) Diversion - fawar=r

Why waste time in waiting for the rains?
(Change into assertive)

(1) It.is not wise in waiting for the rains.

(2) Itis foolish to waste time in waiting for the rains.
(3) Itis wise to waste time in waiting for the rains.

(4) It shall never be wise to waste time.

LM (R)

B R L L L)
mﬁa&ww&ﬂwﬁmﬁmﬁt’
(1) 5920 T, (2) 5091 Tt
(3) 5290 et (4) 5090 fermit.
HE Hr oo —— ¥ & TE [owar §2?
(1) (2) STIR
(3) TaTE gy (4) e

fret § | frm e =1 o W waifas e
ot T gt 87
(1) =r

(3) SR

(2) fE
(4) JarTTE




49.

50.

53.

T o foret st & ' uudidien wvrd’rm&t? :

(1) ey (2) kot
(3) =ftoref @ it
Frev & & wrelt gt e 3 ot o fireedt &
() et o sl ot (2) ol ok wftverst W
(3) st st o (4) wrét st opeft
- TER-1 WY -1 R i i offt e Rl
TR W I W -
-1 -1
( farem) (¥fiet)
(a) 3R (i) W E
(b) MR " (i) e amR
(c) Sy (iii) WaTS TR
(d) Srer (iv) 99 "ot
R:-
(1) a~(iv), b=(1ii), c~(i), d-(ii)
(2) a~(iv), be(iii), c-{ii), d-(i)
(3) a<(iii), b-(iv), c-(ii), d-(i)
(4) a-(i), b(ii), c~(iii), d-(iv)
. Te vE i & v A frtafaa ¥ 4 @=
| YT HE §?
(A) fedteTg - o Warg 9R
(B) 3R - SHeTQ SfEre
(C) ST - AIE Srehet A
(D) YaITE - @ SREs
(1) (A), (), (D) (2) (A), (B), (©)
(3) (B), (C), (D) 4) (A), (B), (D)
e~ 1 & gell- 11 ¥ frers s wer i e o
FHE T IUANT Tk TE A qT AT
-1 qEt-11
(v ") (FerT)
(A) - it (i) =N
(B) fererfs () WA
(C) I=4rm (1i1) JTEAET
(D) HEE Y (iv) TR
R '
(A) (B) (O (D)
(1 @ @ v 6
2) @ (1) (iv) ()
(3) @) (@) (iv) (1)
4 ) @  @Gv) (i)

54

e mmemre my

" W U YO W e # urd wwd 8
(1) oL i 2 = fawr #

(2) wfterdt rorear #
(%)W-@W[M]ﬁ

(4) ore ek &

55, WOYT AT YO VOISt W @t — worett ¥?

560

-

58.

59.

60.

610

62'

(1) wdl
(3) srraef

(2) arerdf
(4) et

#Hrer fag g wert # ¥ A oy P N Ty ﬁ

o deu o wft it §-
A. TR 1 FIFHT TRA % FTFC H10.4% 3
TSR %Y 1T 52.12% ¥ |

oow

i} e i e Toredr F wieg s §
E. fafew o # woredm &1 QA A0 TSaE a1
Hrer fag Ty famedl @ F Tt IR T AAT Fifo-

(1) %o A, BsRD  (2) F@ A 3R D

(3) ¥a@ B, C iR E (4) ¥a@ B s D
fr=ifera & @ @ @ o 2011 & SO %
AR TEA. w1 gAan fenmrara fuerar §2

(1) wret (2) SrEerr

(3) BTG (4) =T

1835 ¥, ® 3 7 SraqT ffraT @ e fan,
Rrerr g —— T@r T

(1) RIS (2) Wferga

(3) EeaTe! 4) Fra=

1857 % foEiE & AHT TN FTA.G.G BT 417
(1) sirst g aie (2) Fa B

3) et == . (4) Y= ey

AT T Y TATIAT Tl T ?

(1) 1836 3. (2) 1838 ¥.

(3) 1842 .- (4) 1844 .

fr=r & & felt, -3 ot Fu-am wrdwart #
It Wihd UTTHETY & HIUT I TR 1956

¥, ey favwor @ wemfia faran?
(1) 7o o= (2) i &t <t
(3) STH! Q& s (4) ARt 2t amt

Frafafaa ¥ | ® 1946 ¥ wg =t d@fga™
frafsft war ¥ wrowam % wfafafu & wa &
T frR T 92

e 1000 il v 2 928 e,




63.

64.
65.
6.
67.

68.

(2) SttaTrs Ao Sy

(1) fasrafds fes

(3) ¥rremer et (4) v gt

e arastt AT T w5 Yard e w fwvw

A & W T §?

(1) we (2) F

(3) wEfa (4) TR

TorereMiT =T wftveg et A g ¥—

(1) STE YT wgeE (2) Sifdier yrarer wrgeff

(3) MR YR wqgedt (4) 3 g =gt
. gt 3R et ¥ Wi Aoy &7

(1) AR (2) sTeriren

(3) TEaT™ (4) TR

HAY N ST WIHg T BT 2

(1) FusHett (2) snfedt

(3) WREIEEH (4) FYF -

Agaret 7 fare Taar st wufta §7

(1) T RE st (2) St

(3) Tt (4) Aot

TURIR 98 & R T, S A e # e
T AW Wga Brar & 198 ' Friedt’ @i off?
(1) S=TGL IME Fit t :

(2) T % 9, Afeerg w§ g

69.

70.

171,

72.

(3) AEHTERE F TR, waﬂaﬁgﬂ
ORGAICEIRE

‘e Tt a&uﬁzmmﬂﬁmmﬁmﬁ
Tt ot?

(1) "rafik (2) STTRTH

(3) SFrTE! (4) goaq.

e U TE FE Y, TR T -

(1) ST (2) Frsfeo.

3) o (4) EwEEA

T, SETE, W, fawave =

JIESTYTAT T &7

(1) TroTEdT Fi e ) nmﬁmﬁﬁﬁ%ﬁt

(3) faadl FAFR. =, (4) TIHF S
‘zgsr amﬁmmamt?

(1) @ § )™

(3) e ¥ @ FRH

73.
74,

18.

76.

i 1A

78.

: 19

80.

81.

(1) Tt g (2) &1
@) gfia (4) =
e % fw e & aga Teaue TR
iy @ Tt % faemrd g v wedr €2

(1) FTWT 202 (2) ST 200.
(3) SAT=T 201 | (4) SIT=% 169
TR & Foe eltenaT Frater & srafea it
% o amfera §72
Ok (2) =R
Ty i SRl ABILRE () 4.
T faarET & qEe SuTeas 9?
(1) Frem g e (2) TTAtEE wEREd
3) R g 7g (4) T 9= faers
AT & gd geanat st frasror wgw fea
T g W Hafera 92
(1) v s et (2) T T
(3) Y FgFre T @) vRdE S EE
T ATF WTAT HAEET WU ¢ N T &7

82.

‘T Aelt I g AT §?

(1) Fre1-grerrs (2) SR~

(3) STL-ATTATZ (4) TTEE- vieTere
‘it S §?

(1) vife e (2) faare T

(3) wreft Tt (4) 9% *fra

waTfera wig T reRyTer at feafta e e
foprm T & walfim §? i

(1) BaTg (2) wETg
(3) @R (4) A
Preafafaa o & gafea g §7

(1) ToHer F gt - MU
(2) ettt i - A o
(3) IEHEA - T

(4) AR g - EFATTE
m&aﬁam@rwﬂmmmt’

(1) 2 ga“-taz(symbols)oai‘m

2) 8 Fl?ﬁT:F (symbols) 0-7
(3) 16 Tt (symbols) 0-9 X A to F

(4) 57 ¥ S Tl




83.

84.

85.

86'

87.

8Is§

89.

90.

. |

92.

93.

mtaswwﬂm’rmmm#

ater T &2

(s (2) 6

3)7 (4) 8

Forem e fore drar w1 W v i

() vl T da (2) g ffire S
(3) vrelta yorfe qar (4) Wil yferg B
T w-an Sryede et % v,
ol frcariar ¥ waifin 17

(1) 243 (A) (2) 356 (B)

(3) 357 (4) 243 (G)
mﬁﬁmm@mwv

(1) 243 § ~ o€ wfafm =t 7o 5 T

(2) 243 ZE - AR 9o wfafy 5 vy

(3) 243 ZC - foten <o wfafy e

(4) 243R - TROferRS Ft F=T w7 oo

Arial bkl ¥

(1) whMve wmgs (2) w72 w=T5E
(3) wEeweTETE . (4) =
THiftr o R w @ dr ¥

(1) 3= ) w9

(3) 7= (4) TR

e & e Se-wtm W

(1) === (2) weifen

(3) &= (4) Tife

ST Sfe e wfiem % for faar wmar 2

(1) Fdersfem (2) difermn

(3) FE (4) waf@r -
qd & U I AR feedt 5 fead 3
TINUT &7

(1) er9ae , (2) 9

@) PaARF T (4) waol

a1 St 33 U & ifufiwar T e ¥2
(1) Hifirm (2) Hvtferm
(3) difemm @) difsam
fefsreet farem # wardt Bier gfire Fmr &2
(1) =mse (2) =€

(3) Fiwx 4) faz

AL S IR R LR

9%

93.

96.

97.

98.

FILLEE SRR

. ﬁqmﬂﬁmmaﬁm&wﬁ
TR 47

(1) =% ¥z (work sheet)

(2) ST (Data base)

(3) ErFgHE (Document)

(4) FSF&TT (Presentation) !

T O o 2007 F HE % RN we &
QAR B §?
(1) ‘gif

(3). .docx

2) o
(4) .exe

T (T)

o

afg 155 Felt Fard WA TH F W W gy
TG RT AT ATAT ¢ °F 10 BIET & <ot it ofram

3 firft w2 Tt ¥ A & gk W SO
(1) 145 . (2) 150 &+,

(3) 152 9. (4) 140 94t

25 TgHI T e g 30 a6 utw wEwt
sEfra A walma su 2 ad dr o iy

wEH! it 3Ha 37 = ¥?
(1) 42 @) 50
(3) 48 4 75

300 7 i+t & A | 40 wiwa A 2 T
o wm H+f fod WA & R 9w ¥ 5
gfdera €+t @12

(1) 60 a9 (2) 75 9

(3) 55 T 4) 62 71

. Terelt =g o fowma wiftrerar wreTant sifea e
ST 20% HHTT X & qy=rg of 16% @™
HHENT Wh?
(1) 50%

(3) 45%

(2) 30%
(4) 32%

100. et TR 3 W W Y= s frg T 4800

. TR 3§ IHY 15% TW F Teh THEER Y 3
fean | g 3R e T W R R w
IN 10% TN B? |
(1) 5000 .
(3) 6000 .

(2) 6072 .
(4) 4008 T.




101. T3 ST ¥ NG WIHA T AT 10% W G R/
el | 9N Y FoRe whtvere ov @ A9 R R AR
# 10% T TV 8-

(1) 30% (2) 40%

(3) 25% 4) 35%
102?&%@@# swgr o A wA ¥ A

wardt I far = g 10 fF § w F A

for Rl =t StravaERT -

(1) 30 (2) 25

(3)1s (4) 20°

103.9f% -§=% W (x+5) : (y +8) WAL ¥-

E () 5:3 () 13:8

£ (3)8:3 4)5:8

| 104. 9T ¥ 4500 . TRITET TS SUR W F6all | 59
WY uyvera e ot 2700 &, e ORI §
TR A M AR af F aa TN S : 2 %

) ITTUT W sieT WA B At qarelt fYer s ¥

| e -
(1) 8 HIE &% (2) 4 TR S
(3) 6 WIE 9% @) 27 EERE

105.9 AT 2006 ¥ 31 IJTTAT 2006 TF B 1820 .

W 7% e eX W GuRY o e am?

i (1)2930%
(3)27.30%

() 28.30%
4)3230%

106.1500 €U T 17:' T HT 16% H T W AHFE
A . 2

i ST $ Wafe ST Ay St giar -

f (1) 310 &. (2) 309.60 T.
(3) 409.60 &. @) 510 %.

107.608, 544; 638, 783 AT 425, 476 B 4. . a.

B BITI? -

£ (1)32,17,29 (2)32,19,29

f . (3)19,32,39 (4)32,29,17 ,

108.3 gow dir & wRRem @ W B 15RT F A
W ¥ 1 2 gou 3R 3 ufean S B B 18 RA
“H oY wpa &1 P Jo¥ 3R P Al B 99
M B FE A fbad R\ aR?

1y 202

11 @ 05y

11

A3) 40%‘% (4) 451—0
109.mmmmmgvamm$nwaﬂ150ﬁﬂﬁ
T8 R W 3"ver 20 fAme § T Y@ 1 @A
9 TAYR 4 92 10 e § ugEan 81 8 A
4 9u o sl are faeed 87
(1y 80 ) /5vey (2) 40 54 /gve
(3) 30 f&H /aver (4) 60 & /ever
110.48 f=f). ufy =ver A @@ | w @
fah FAfas g8 &1 50 fAse & ag o ot 21
7z gft 40 fime ¥ w1 P @ fog YT @A
ot @ Bel?
(1) 50 f& /gver
(3) 60 faH)/gver

(2) 55 1 /gveT
@) 70 f& R /aver

111.Mmﬁamaﬁg—mﬁwwk

- af S T v Y w20 e
<8 A ugTw 21359 T B T B H arfad
wHg e o €7

(1) 60 fae (2) 40 e

(3) 47 fAe (@) 57 e
112. 64 TN 81 &1 Jeqgurl €FN ?

(1) 64 ()60

(3)72 (4) 81

1131ﬂmamlﬂm$uﬁaﬂmgmerjma4 38
A STt TG BT AT 2899 2| 89 A g
g W YN wwmoAm?
(1)4:3 )6:5
(3)7:4 @12:11
114. g 3R urh 5w U § far o s

ﬁamaﬁmgawiiﬁw 33§% W Bt
@) 351 -

@ 1:3
B)2x3 & 4)3:2
115.3+3+3+3+3+=17
(1) 4:3 @) 3:4
(3)2:1 @) 102



Frdwr: =t fear war wid = wek ufiar & o =

%! wfavra | Frefua Far € 1 -=ne & veaaa Sifag
T 99T AT 116 | 120 9% & I g, Fafew uRan

Sl e Wi 3 33650 ¥
B,:18
A, 25
C,9
F, 12 D, 23
E 13
A : ¥ISH =1 379
B: W% fFuu W=y
C : TS W =g

13.
18.
23.
24.

D : = =t faen qu1 T@-wia W=Ag
E : @ vE fafay =4
F-ufmfAfawayadaeg

116. 97 9T wfemmg faptan §?
(1) 6000 T72 (2) 6152 793
(3) 6057 T2 (4) 6048 TT2

117. wiferes fifer % w0 § o w37 0 % fopmy
mﬁwﬁmm“mmmmp

(1) 23545 T3 (2) 24435 Tua
(3) 23555 %92 (4) 25355 773
118. wiaen fafa & =a % anfifas s Enfi?
(1) 48456 T3 (2) 48540 T2
(3) 44856 TT (4) 45480 T72
119 Uftar g Wier 3 A= W e e uhin,
G i A AT gAATE?
(1) 11432 %93 (2) 11441 792
(3) 12315 %72 (4) 12443 773
120. 1f¢ aftEaR & = A1 g | wfasa ff o afinfag
T UIaWTE o1 sraid St TFYT ST giedt?
(1) 12667.50 T93 (2) 12625.50 793
(3) 11727.50 T7& (4)11777.50 T3

I : () W Tt

(4) STEAT: - a1+ = e
(2) - mﬁ:mmﬁaﬁuﬁ%«:@m—
3fa + s (7o)

g .- sm 5, %, 3, 5 sl % & g 1S et @
m?hs,ﬁwmx/squﬂwwﬁr{@w%r

Ima: ms%mw%lsﬁr afg

3 + G + Mg = TR

@ 4 @ 50 6 @ 1. 0
G 9 @ 1002 n @ ‘1270
@ 14. @) 15 () 16. (@) 17. (4
1 19 (1) 20. @) 2. (1) 22. (1)
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